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Answer any EIVE ©
re and sco
1. Explain the natu pe of Accﬁunting-

pescribe the role of Accounting Theon’, and define its purpose,
Give the meaning of Accounting Stangards, What are their objectives?
Define Revenue according to Asq explain with illustrations the timing of

revenue recagnition.,
A company has purchase plant in tha year 2016-17 for 245 lakh. A balance of

MANGALORE-575 063
2
3.
4

7 5 lakh is still payable to the SUpplier for the same- The supplier waived off the
balance amount during the financia) ye,r 2018-19. The company treated it as
income and credited it to the profit ang |0ss A/c during 2018-19. Explain in the
light of AS10 if the accounting treatment of the company is correct,

Write a note on Monetary Assets,
What is cash flow statement? Explajn jts usefulness.
SECTION - B

Answer any FOUR of the following.

8. Explain in detail the basic accounting concepts.
9. What are the types of accounting theory? Explain in detail the approaches in

(4x10=40)

accounting theory.

10. Explain the scope and functions of the Accounting Standard Board and describe
the procedure for issuing Accounting Standards.

{1. Lst out in detail the various elements included in calculating the cost of
inventories according to AS- 2. What are the related costs that are excluded
from Inventory valuation?

12. From the information contained in the Income statement and Assets and
Liabilities of A Ltd. prepare Cash Flow statement according to AS-3.

Income statement for the year ended 31* March 2019
(A) 4

2,52,00,000

Net sales
Less :- cash cost of sales 1,98,00,000
Depreciation 6,00,000
Salaries and wages 24,00,000
Operating expenses 8,00,000
Provision for taxation 8,80,000
(B) 2,44,80,000
7,20,000

Net operating profit (A-B)

Non recurring Income — Profits 01 sale of Equipment __1,20,000
8,40,000

rofits brought forward 15,18,000
23,58,000

Divi d paid 4Uring the ye, 00
ividends declared aﬂs ::n march 31.201‘:3 & L

Surplus A/c balance 2 ~ 16,38,000 _
cﬂntdnuz

Retained Earnings and P
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FINANCIAL MANAGEMENT AND POLICY
Max. Marks: 70

- M.Com.

Time: 3 Hours
0YSIUS COLLE
SECTION - A STAL PG Library e
Answer any EIVE of the following; MANGALORE-575 0§5%4=20)

1. A 5-year debenture of a firm can ba gold for @ net price of ¥ 96.50. The
the debenture will be redeemed at

0%. Compute the after-tax

coupon rate of interest is 14% annum, and
5% premium on maturity. The firm’s tax rate IS 4
cost of debenture.

2. There are 2 firms X and Y which are exactly identical except that X does not
use any debt in its financing, while Y was 2 1,00,000 in its financing. Both the
firms have earnings before Interest and tax of T 25,000 and the equity
capitalization rate is 10%. Assuming the corporation tax of 50%. Calculate the
value of the firm using M.M. approach.

3. A simplified income statement of Xyz Ltd. is given below. Calculate and
interpret its degree of operating leverage, degree of financial leverage and
degree of combined leverage.

Income statement of XYZ Ltd for the year ended 31% March 2017.

(smes 10,50,000
(-) V.C. 7,67,000
Contribution 2,83,000

(-) Fixed cost 75,000
EBIT 2,08,000
(-)Interest 1,10,000
98,000

(-)Tax @ 30% 29,400
Net income 68,600

4, X Ltd is expecting an annual EBIT of ¥ 1,00,000. The company has ¥ 4,00,000
in 10% debentures. The equity capitalization rate is 12.5%.
You are required to calculate the total value of the firm according to Net
Income Approach.

5. Explain various steps involved in strategic financial planning.
6. Critically analyse the traditional approach to the capital structure.

7. Explain different forms of dividend.

Co I"ltd " !2
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10.

11,

ON -

Answer any FOUR of the following:
| structure of a company.
______.-—-"_'""_——-—*

The following is the capita
Book value

i oS ST
Source of capital e

Equity shares of 100 each
_________._-—"-_'__-_-—'_"_

9% cumulative preference shares @ 100 each.
_________...-———'-__‘_—'—-

11% debentures

‘Retained earnings

e ———

e —

The current market price of the company's equity share Is ¥ 200.
year the company had paid equity dividend at 25% and its dividend is likely to

grow 5% every year. The corporate tax raEeir is 30% and share holders
A .AI.EYMUS COLLEG

Co '.‘I“.'l.

For the last

personal income tax rate is 20%.
You are required to calculate MANUALOKE-575 Oul

i) Cost of capital for each source of finance.

ii) Weighted average cost of capital on the basis of book value as weights.

iii) Weighted average cost of capital on the basis of market value as weight.

The following Information is avallable in respect of a firm.

Capitalization rate: 10%

Earnings per share : T 50

Assumed rate of return on investment

i) 12% i) 8% iii) 10%

Show the effect of dividend policy on market price of shares applying Walter’s

formula when dividend payout ratio is a) 0%, b) 20% c) 40%, d) 80% and

e) 100%.

A Ltd. company has equity share capital of ¥ 5,00,000 dividend in to shares of

7 100 each. If wishes to raise further ¥ 3,00,000 for expansion cum
modernization plans. The company plans the following financing plans.

a) All common stock

b) % 1 lakh in common stock and ¥ 2 lakhs in debt @ 10% p.a.

c) All debts @ 10% p.a.
d) T 1 lakh in common stock and T 2 lakh in preference capital with the
rate of dividend at 8%.
The company’s expected earnings before interest and tax (EBIT) are
% 1,50,000, The corporate rate of tax is 50%: Determine Earning per share in
each plan and comment on the implication on the financial leverage.

Explain various factors influencing capital structure.

12, Investment, financing and dividend decisions are al! inter-related. Explain.

Contd...3

Scanned by CamScanner



PH 312.1 Page No. 3

13, Explain Wealth maximization and Profit Maximization objectives of Finance
Manager of LT Industry. In What respect js the objective of wealth
maximization superior to profit Maximization objective:

SECTION .. ¢ (compulsorv) (1x10=10)
14. D Ltd. has 10 lakh equity shares Oltstanding 2t the beginning of the current
year 2011. The current market price of 1@ share 1S Z 150 each. The Board of
Directors of the company has recommended Z 8 Per share as dividend. The
rate of return capitalization, appropriate to the risk class to which the
company to 12%.
i) Based on M.M. approach, calculate the market price of the share of the
company when the recommended dividend is- ST.AL(iII;SIll{ErETO‘LLEGE
a) declared and b) not declared MAN(;ALQRE-S-?S 003
i) How many new shares are to be jssyed by the company at the end of the
accounting year on the assumption that the net income for the year is T 2
crores and the investment budget is 4 crores when
a) the above dividend are distributed b) dividends are not distributed
iii) show the market value of the share at the end of the accounting year will
remain the same whether dividends are distributed or not declared.

e ok e sk ok ok oK

Scanned by CamScanner



Reg No: r

st Aloysius Colleg, (Autol‘“mous)
Man allu-u
semester I - P.G. E"amina tion - M.Com.
Il:lovember -2019
COME 75x

Time: 3 Hours Max. Marlks: 70

SEC
TION . ST.ALOYSIUS COLLEGE

or any FIVE of the following: pCi Library 5x4=20
Answ y MAM;ALORE-S?S oyl ( )

PH 313.1

1. “Income tax is charged on Income of the previous year.” Do you fully agree with
this statement? If not, what are the eyc ;157

2. Shri Amar Nath was employed in 3 company. He retired from service on 1%
January, 2019 after completing 30 yearg of service. From 1<t July, 2017 his pay
scale was T 8,000-200-10,000-3pp.13 o0 and he was getting dearness
allowance @ 20% of his pay under (he terms of employment. He had seven
months' earned leave to his credit (on the basis of 30 days per year) which was
approved.
Hence he was paid ¥ 57,400 as salary and ¥ 11,480 as dearness allowance.
Compute the amount exempt regarding encashment of earned leave for the
Assessment year 2019-20.

3. Mr. Yogesh takes a loan of ¥ 450,000 @ 15% p.a. for constructing a house on

1.06.2013. Construction of the house was completed on 20.01.2019. Date of loan

repayment is 30.09.2016. Compute the duration of pre-construction period and

the amount of interest.

What are Bond Washing transactions?

Explaining the meaning of Business and Profession.

Explain briefly the rules regarding exception of Capital Gains.

N o ow oA

Ms Sumana is employed in a private company at ¥70,000 per month, ¥ 6,000 per
month as dearness pay and ¥ 10,000 p2. as commission during the previous year.
He received Z 5,000 per month as HRA and he paid ¥ 7,000 p.m as rent. Compute
exempted HRA.
SECTION - B

Answerany FOUR of the following: (4x10=40)

8. Mr X owns four houses, the municipal valuations of which are ¥ 10,00,000,
¥8,00,000, 76,00,000 and T 6,00,000 respectively, He lives in the first house
and runs his business in the second house. The third house is let out for ¥ 25,000

per month,
Ccontd...2
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10.
11.

12.

page No: 2

for
I 2013 the Construction of the fourth house, the

May 2
pistM2Y 2013 and ended on 31 January 2015. The
the

A loan was taken on 15t Apri
' ich began ¢
construction of whic -
t on & Febrt ry <015 for ¥ 20,000 per month. For

house was let 04 id
pst pald b ;
= Y him in respect of the loan amounted

x ears .
r the |3I"3“"““5 y 2013'14 and 2014-15, the interest paid

to T 15,000 and fo 7
4 Z 200 i
d 00 respectively. Municipal taxes paid @

has been amounted Z‘ 32,{)0(1_ an ;
nicipal valuati™ ASCETtain his income from h,QIJse property for

ST.ALOYSH JLI

g-19, the int®

10%. of the mu

theAY 2019'20- (.. . i@

Aditi went first time out of India t0 Japan on 10% pecember 2012. She came back
1¢t Apri

15t April 2017. In the previous year 2018-19, she was

to India from Japan on 1 2014- On 15w October 2016, she went to America

and came back to India on

in India for only 62 days.

She has the following incomes in the previous year 2018-19:
i) Capital gains on the sale of property received in Japan ¥ 2.52,000. 50% was

spent on education of children.

i) Income from House property situated in Japan. 60% was received and

ii
remaining amount deposited ina bank there < 3,20,000.
iii) Profit of a business situated in America ¥ 8,40,000.

(The business was C0 ntrolled from India)

iv) Dividend from an American company Z 2,50,000 of this 40% was received in
India and remainder in Japan.

You are required to determine residential status of Aditi for the PY 2018-19 and
on the basis of residential status determine her taxable income.

Explain the provisions relating to set-off and carry forward of losses.

Discuss the allowable deductions U/S 80C, 80D and BOE.
Mangaluru on 24t August 2018
100,000 in connection with the

Shri Sharma sells his only residentia] house in
for ¥ 35,00,000 and incurs an expenditure of ¥
transfer, cost of the house for hip j, 1998 was # 180,000 and the FMV of the
house as on 1 April 2001 wgs 3 800,000. On 16 January 2019, he deposits
T20,00,000 in the capital gain accoynt s;:heme'

Comput ; :
pute taxable capital gaip for the Assessrﬂe“tyear 2019-20.

Glltd-
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Other information:

Page No: 3
13. Dr Gathish is a Medical Practitiongy., He Blves the following summary of cash book
Tofaiance 10,000 -F-I:-e'n‘f';f};_linic 18,000 |
"To consultation fees 50'000 _By Surchase of Medicine 38,000
Mees 45'000 B: staffsalaries 24,000
To gifts & presents 8,00g —B)—’—;Eé,fga] equipment 40,000
To Sale of medicine 42,005 *é;ﬁom expenses 8,000
To Dividend from UTI 6,000 | py purchase of Motor Car | 1,40,000
To Life Insurance maturity mﬁ*—aﬁgus hold expenses 7,000
To interest from NSC 6,000 g;i,‘a'z;_[?— 2,000
E7: sl 2,77,000
|

a) 50% of the Motor Car expenses jpcyrred in connection with the profession.
Car was purchased in December 2018,

b) Household expenses include 6,800 for life insurance premium.

¢) Gifts and presents include ¥ 3,000 from relatives.

d) Closing stock of medicine 12,000 and on 01.04.2018, opening sockwes

T 4,000.

Compute his professional gain for the Assessment year 2019-20.
SECTION - C §T.ALOYSIUS COLLEGE

Case Study
14.

NMNGM.ORF.-S"E! 0u3

P Libraiy (1x10=10]

Mr Sharma is an executive in a private company in Bengaluru. He submits the

following particulars of his income for the financial year 2018-19.

Basic Salary ¥ 50,000 p.m

Dearness allowance 50% of Basic (enters in to retirement benefits)

Entertainment allowance ¥ 1,000 p.m
Medical allowance ¥ 500p.m; Daily allowance T 1,500pm.

The company has provided h

im a rent free accommodation with furniture

costing T 20,000. The electric bills and telephone bills ¥ 12,000 p.a and X 15,000

p.a. respectively by the com

pany. The company also provided with a service of

domestic servant ¥ 2,000 p.m. The company provides free lunch in the office for
300 working days which costs the cOmPany % 24,000. He contributes 14% of his

salary to Recognised Provident Fund, the company also contributing equal sum.
The amount of interest credited to his Provident fund@ 8.5% p.a

He paid % 2,400 professional tax duri"é the year,
Compute Mr Sharma's taxable income from salary for the Assessment year

2019-20,

**#**
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ECONOMIC ENVIRONp 1 AND POLICY

Time: 3 Hours Max. Marks: 70
SECTION - A
Answer any FIVE of the following, (5x4=20)

1. Mention any five objectives of macrg economic policy.
2. Briefly explain the nature of modern pyginess.
3. Distinguish between money market ang capital market.

4. Define disinvestment mechanism. What are the reasons for disinvestment in
India?

5. What is a Special Economic Zone (SEZ)? Describe the objectives of Special
Economic Zones.

6. What is the need for the protection of intellectual property rights?

ST.ALOYSIUS COLLECE

e Labrasy

7. Describe the competition Act 2002,
MANGALORE-STS Uyo
. SECTION - B

Ans'liver any FOUR of the following: (4x10=40)

8. Briefly explain Business Environment. Discuss the internal and external factors
influencing business environment.

9. What are the various components of a financial system? How does a financial
system influence economic development?

10. What are the objectives and salient features of Industrial Policy 19917

11. Discuss FDI in Retail Sector in India. What are the pros and cons of allowing
FDI in Retail Sector?
12. Write short notes on
a) Intellectual Property rights (IPR)
b) Patents
¢) Trademarks
d) Copyrights
13. Discuss the salient features of ConsUMers Protection Act 1986. To what extent
Is it protecting the rights of consumers?
Contd...2
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28 LDYSIUS COLLEGF
SEC M5 Labrary
TION = A . NGALORE-S7580
(5x4=20)

Answer any FIVE questions.
1. Enumerate the different managerial rg|es,

Review the key determinants of Personality?

What are the problems in implementation ©Of turn-around strategies in

(¥ )

organizations?

How does stress impact individual performance?
Discuss the term organisatonal Change,

Elaborate the relevance of organizational creativity.
state the difference between attitude and perception:

N o o

g SECTION - B
(4x10=40)

Answer any FOUR questions.
Elucidate in detail the management process.

Gross cultural difference at workplace is a challenge or boon to

organization. Explain.

10. Discuss the methods that can be deployed for conflict management in any

organization of your choice.

11. Describe in detail the creative enhancement techniques.

12. Explain the content theories of motivation.
13. Discuss the various sources of stress at work.

SECTION - C

14, Analyse the case (Compulsory)
Susan Harrington continued to drum her fingers on her desk. She had a

real problem and wasn't suré what to do next, She had a lot of confidence

in Jack Reed, but she suspected about the last person in the office
who did. Perhaps if she ran through the entire story again in her mind she

(10)

would see the solution.
Susan had been distribution manager for Clarkston Industries for almost

twenty years. An early crush With the law and a short stay in prison had
made her realize the importancé Of honesty and hard work. Henry
Clarkston had given her a chance despite her record, and Susan had made
the most of it. She now was one of the most respected manager in the

company. Susan had hired Jack Reed fT€sh out of prison six months ag:
contd...2
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o Jack ﬂ:; :2;: Jack tried to explain his past and
asked for another chance: > e J:d to give him that chance just as
Henry Clarkston had given hef 48 L‘ruc:k eagerly accepted a job on the
loading docks and could soon 108 3 as fast as anyone in the crew.
Things had gone well first. Every Seemed to like Jack and he made
several new friends. Susan had Deen uag'-'"—‘lv disturbed about two months
ago, however when _nother dock WOTKE reported his wallet missing. She
ed Jack about this and Was Teassured when Jack understood her

dm‘sl:(l"f-"d how

confront
concern and earnestly but calmly @sserted his innocence.  Susan was

especially relieved when the wallet was found a few days later. But this
events had caused a serious unrest among other workers.

To her dismay, Susan found that re-thinking the story did little to solve the
problem. Someone in the book-keeping discovered some money missing
from petty cash. The evidence, of course was purely circumstantial, yet
everybody else to see things quite clearly. Susan feared that if she did not
fire Jack, she would lose everyone'’s trust and that some people mi%h(’fﬁeven

begin to question her own motives. STAL{LY(S‘[UErE?xLL
v LA "
Questions: m,\m;hl.@!ﬁ"—"”’ | "R}

a) Explain the events in this case in terms of perception and attitudes.
b) Does personality play an important role in framing our perception about
others? Give reasons for your stand.

c) What should Susan do? Should she fire Jack or give him another
chance.

ook ok ok kKRR
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Answeranyﬂﬁol’the following ¢ HI.““ 1o

pe of operation Researchy 1, n0nL0R E-575 003

important management

ps 316.1

M.Com.

1, Explain the sco

2. How you are appling Linear ngramming to take

decision.
Solve the following game whose pay off matrix 15 given by
game fair
Player B

Bl BZ BS
A 3 1
A, lO -4 =3
Al1 5 -1
4. Obtain Initial feasible solution with the help o

3 player B. Is the

fNorth West corner rule.

Dy D2 Dz Supply

0L 2 7 #4 5
00 3 3 1 8
0; 5 4 7 7
0. 1 6 2 14

7 9 18 34

Requirement

5. Briefly explain the process of Simulation?
6. What are the limitations of Operation Research?

7. Explain the steps for Crashing Activity?
SECTION - B

Answer any FOUR of the following: (4x10=40)
8. Solve with a help of VAM and Test for optimality.

D, D; D3 Ds Su pply
0: 2 2 221 3
0 10 8 5 4 7
0: 7 6 6 8 5
Demand 4 3 4 4 15

9. Solve the following LPP by graphical method
Minimize Z = 20x, + 10x,
Subto x, + 2x, < 40
3%y + 2x; = 30

4x1 + 312 = 60
and X, X7 > ()

Contd...2
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Jutio
i prohlefﬂ das gL Using principle of Dominance.
10. For the following

fin

(e CT ALOYSIUS COLLY

4 Wi ALORE-575 004

11. The following table shows the jobs of the network along with the time
. The follow

estimates

Optimistic
A
Most likely

, project length value and project length duration-

ble (Time in week +cost in Rs). Use it to
mum

Calculate critical path

time and cost ta

12. Following are the ) - bt
eod with computing the project with mini

arrive at the network associal

time, minimum cost —
Activity Normal Crash
Time | Cost

1-2 2 800 1400

13 5 [1000| 2 | 2000
1-4 5 |1000| 3 | 1800
2-4 1 500 1 500
2-5 5 |1500| 3 | 2100
3-4 4 |zoo0| 3 | 3000
3-5 6 |1200] 4 | 1600
4-5 5 900 | 3 | 1600

13. Using the following cast matrix find the cost assignment.

A B C D
M, 1 4 6 3
M 9 7 10 9
M, & 5 11 7
M, 8 7 8 5

SECTION - C (Compulsory)
(1x10=10)

14. Aproject schedule given in the table

Activi 2|
'mty 1-2|1-3|24|34[35[49[56|57| 68|78 8-109-101
T;me411165481257j

[ (Days)

From the
| following Draw a Network, Determine critical path, total project
duration and also calculate the floats.

kR
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ON -
» sor any FIVE of the following A
what is Accounting Standargr . (4x5=20)
4 standards by ICAI? Explain the procedure for issuing Accounting

. pescribe the role of Accounting Theory in modern by
usiness.
the meri i
3, Whatare the merits of Accounting Standards? ST.ALOYSIUS COLLEGE
;. Whatare Non-monetary assets? T

= MANG =. ¢
5, Whatare the objectives of cash flow statements? RS SE575003

6. Whatlis inventory as per AS 27 State the items of inventory excluded from AS 2.
7. Write a note on AS 26.

SECTION - B
sswer any FOUR of the following

(10x4=40)

5. On 1% January 20x1, X Ltd purchased second-hand machine for €58,000 and
spent X 2,000 on its overhauling. On 1* July 20x1, additional machinery at a cost
of ¥ 20,000 was purchased. On 30" September 20x2, repairs and renewals of
machinery amounted to ¥ 2,000. On 1" July 20x3, the machine purchased on 1%
January 20x1 became obsolete and was sold for ¥ 30,830 and ¥ 330 was paid as
commission to the broker through whom the sale was effected. On the same
date a new machinery was purchased at a cost of ¥ 40,000.
Prepare the machinery account for the first four calendar years if the
depreciation is to be provided @10% per annum according to written down
value method and at the end of 20x4, it is decided to change the method of
depreciation from written down value method to straight line method @ 5% per
annum retrospectively (i.e. with effect from 1 January 20x1).

9. Explain the accounting assumptions as per AS-1.

10. Explain the process of recognition of an asset according to AS 26. Also describe

the provisions relating to measurement after recognition.

1L a) xitd purchased a machine in the year 2000 for T 100 lakhs and cleared by

customs without levy of custom duty. In 2003 custom authorities alleged

suppression of facts. The company paid the duty with penalties of ¥ 5
ding to AS 10 how would depreciation be charged on this

lakhs, Accor
amount? (5)
Contd...2
T T
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9,
R Ltd made the following EXpendimre 3 l
b) During the year ;

Y
its plant building: in lakhs
4
Routine repair ,
Repairing
i 0.5
Partial replacement of roof tiles
ctrical
Substantial improvements to the ele. -
ich will increase efficiency 10
wiring system which wi
What amount should be capitalized? )
12. Explain in detail the roots of accounting theory.
13, The summarized Balance sheets of Kanyon Ltd as on 31.12.2017 ang 31.12_20la
are as follows:
Liabilites | 2017 2018 Assets 20{17 ‘50‘1?
T g S . [
Share capital 4,50,000 | 4,50,000 | Fixed assets 4,00,000 “_ﬁaoxm,
General reserve | 3,00,000 | 3,10,000 | Investments 50,000 m
Profit and Loss| 56,000 68,000 | Stock 2,40,000 [ 3195
Alc
Creditors 1,68,000 | 1,34,000 | Debtors 2,10,000 _—Tﬁﬁ-
. Tax Provision 75,000 10,000 | Bank 1,49,000 | 1970
Mortgage Loan - 2,70,000
10,459,000 12,42,000 10'49'000 12‘42‘”

Additional information: _ CH, -
i) Investments costing ¥ 8,000 were sold for ¥ 8,500. ST.ALOYSIUS COLLEG

Yol Library

\ =
ii) Tax provision made during the year was ¥ 9,000, MANGALORE-575 00}

iii) During the year, part of the fixed assets costing ¥ 10,000 was sold for

¥ 12,000 and the profit was included in profit and loss account.

You are required to prepare the Cash Flow Statement according to AS3.

SECTION - ¢ (Compulsory) (1x10=10)
The Directors of Rajni Ltd ask You to prepare the final accounts in th
format for the year ended 31

14. e statutory

March 2018. Given below in the trail balance of

Rajni Ltd.
- __---F-.'-
Debit balance X Credit balance .

Land and Building 14,000 | Share capital 00

(original cost ¥ 30,000)

Furniture 800 | Genera| reserve 3

(original cost ¥ 1,500)

Plapt and machinery 10,000 | 8% debentures 19,003
ﬁmginm cost ¥ 20,000)

] co.n .
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1420170
Grock on 1.4.2017
15,000 | Bank overdraft 1 150 |
purchases _—i-[-}a—-—— 2
: 0,000 | Sundry creditors 1,600
galaries [T I
S 800 | Security premium 1,000
printing and stationery - e
120 | Debenture redemption 4,000
- reserve
pebtors et
7,000 | Sales " 2,11,800

T estments (at cost)
inv 600 | Profit and loss a/c 850
|

Cash 200

preliminary expenses 400

Cash at bank 2 400

Interest 200

Debenture interest 400 ST.ALC COLLEGE
e ATy

Director’s fees 200 MANGALORE-573 003

'Rent, rates and insurance 280

2,52,400 2,52,400

The following further information is given:
a) Depreciation is to be provided as under
i) Land and buildings at 5% on straight line basis

i) Furniture and pla

b) Provide for 5% provision on debtors for doubtful debts.

c) Provide for

i) Outstanding audit fees T 250 and
d) Insurance is prepaid to the extent of T 80.

e) The Directors have recommended

i) Transfer of ¥ 1,000 to debenture redemption reserve

i) Transfer of ¥ 400 to general reserve
aid up capital.
if half of the preliminary expenses.

iii) Equity dividend 8% on p

f) It has been decided to write 0
Wmﬂﬂﬁﬂmfﬂ

nt and machinery at 10% on reducing Balance method.

ii) Provision for income tax < 2,400.
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Semester I - p

3 Hours

November - 2018

FINANCI
AL MANAGEMENT AND POLICY

SECTION - A

answer any FIVE of the following:

Max. Marks: 70

(5x4= 20)

ic financial m
gtratéd! anagement has a multi-dimensional purview. Explain.

gxplain the significance of cost of capital and its different concepts
explain the traditional theory of capital structure |

gxplain the scope of financial management

 firm has sales of T 10,00,000, variable cost of 2 7,00,000 and fixed cost of
¢ 2,00,000 and debt of ¥ 5,00,000 at 10% rate of interest. What are the
operating, Financial and Combined leverage.
A company Issues ¥ 10,00,000, 10% redeemable debentures at a discount of
5%, The cost of floatation amount to ¥ 30,000. The debenture are redeemable

after 5 years. Calculate before tax and after tax cost of debt assuming a tax

rate of 50%.

The following is the data regarding 2 ¢

same equivalent risk class.

' Company A | Company B

‘ Number of ordinary shares 1,00,000 1,50,000
8% debentures 50,000 ---
"Market price per share 71.30 T1.00 |
. Profit before interest Z 20,000 Z 20,000

All profits after paying debe
You are requested
investor holding 10%
his holdings to company ‘B’

The following information
investment; the cost of capi
Rate of return : 15%, 12%;
Cost of capital : 12%
Earning per share : ¥ 10
Determine the value ©
following:

Dividend payment ratio

ompanies 'A’ and 'B’, belonging to the

ST.ALOYSIUS COLLEGE

PG Library
MANGALORE-575 003

nture interest are distributed as dividends.

to explain how under
of shares in company

SECTION - B

Answer any FOUR of the following:

ijs availabl
tal and earn
10%

f jts share using G

Retention ratio

Modigliani and Miller approach an

‘A’ will be better off in switching

(4x10=40)

e in respect of rate of return on
ing per share of ABC Ltd.

ordon’s Model assuming the

Contd...2

[T ———
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ST.ALOYSIUS COLLEGE ﬂ)

e o0l

575 P
MANGLALGOIKIE ‘9‘"
Rt k value capital structure, %)
9. ABC Ltd. has the following boo €4 Milligy
ar 10
Equity capital (10 million shares, ¥ ;?}30 s)hares. ¥ 100 par lg
Preference share capital, 11% (1,00, 120
Retained earnings ar
13.5% debentures (5,00,000 debentures ¥ 100 par) :g
12% term loan 30—

10,

11.

12,

13.

14,

The net expected dividend per share is 1.50|; ;rherI:;vld:rndhpEr share;‘
€Xpected to grow at the rate of 7%. The market p : pm share i
Preference stock, redeemable after 10 years is currently se ng for » 7 ae;
Share. Debentures redeemable after 6 years are selling for ? g o
debenture. The tax rate for the company Is 50%.

Calculate the weighted average cost of capital using

a) book value proportions and b) market value proportions,

The project cost of ABC Ltd. is ¥ 20,00,000. The annual net profjt of t
business is expected to be ¥ 3,00,000. It is considering the POSsibiity o
ISsuing equity shares plus raising a debt of ¥ 4,00,000, ¥ 8,00,009 ,,
¥ 12,00,000, The current market price per share is ¥ 50 per share, Which e

expected to drop to 2 40 per share if the market borrowing were tq eXceeq
¥ 8,50,000. The cost of borrowing Is indicated below -
Up to 2 5,00,000 - 10%

Between 7 5,00,001 and 7 10,00,000 - 149
Between ¥ 10,00,001 to 7 15,00,000 - 16%
Assuming a tax rate of 50%, calculate the EPS and the sche
be best from the shareholders point of view,
Examine major determinants of ca

optimal capital structure.

me which woylg

pital structure, Explain the features of

SECTION - ¢ (Compulsorv}
Aries Ltd. wishes to raise additional finance of 2 10 lakhs for meeting lts
investment plans., It has ¥ 2,10,000 In the form of retained earnings available
for Investment Purposes, The following are the further details,

a) Debt - Equity mix ; 3004 1 70%

b) Cost of debt:

(1x10=10)

E (before tax)
ii) Beyond % 1,80,000 : 169, (before tax)
i) Earning per share ; 7 4

iv) Dividend Payout : 5
V) Expected arowth ra
vi) Current market pri

vil)Tax rate : 50%
You are required;

0% of €arnings

te of dividend - 10%,
ce/share : T 44

€ pattern for faising additional fing
nce,
b) To determine the post-tax average cost of additional debt.
€) To determine the cost of retaineg €arnings and cost of equity.
d) Compute the overall weighteq averag

ml
© after tax cost of additional finan
****t**‘**

Scanned by CamScanner



515.1 \ Mot |
'H St Aloysius College :::: T
onomous) e

omous)
Mangalury

Semester I -
P.G. Examination - M.Com

Novemb
er- 2018
INCOME TAX

; 3 D
Max Marks: 70

SECTION - A

answer any EIVE of the following:
' (5x4=20)

explain the meaning of ‘As
p sessment year’ and ‘Previous year'.

™~

i

wn

&

tate the condition
2 . s to be satisfied to treat an income U ingi t
the exceptions, if any. e U/S 22, bringing ou

Wwrite a note on bond washing transactions
How do you treat the fo r-
' | llowing items in the computation of Business/

professional income?

a) Expenses incurred on Income tax appeal

b) Membership fees paid by a chartered Accountant to CA institute.

¢) Capital expenditure on family planning.

d) Donation to National Fund for Rural Development.

a big house, 259, of which Is ysed for own profession,
onth and 20% let out at

Mr. Hemanth owns

25% sell occupied, 30% is let out at ¥ 3,000 per M

¥ 1,000 p.m. Its muncipal value is 80,000 whereas standard Rent is
7 70,000. Muncipal taxes are levied at 10% of AMV and the assesse€ hears

50% of the same. Find out the Annual value of the house property.

articular find out taxable HRA. B
ST.ALOYSIUS COLLEGE

PG Library
M-\NGALORE-STS no?

From the following P

Basic as on 1% January 2018 ¥ 10,000 p-M

DAZ 1000 p.m (DA is considered for PF)
al rent paid for the house at Mysore T2000p.m.

HRA at Z 2,500 p.M. Actu
15 August every year.

Annual increment of 2500 falls due on

Discuss the provision u/s 80C:

— GECTION - B
(4x10=40)

Answer any FQUR of the following:

Explain the provisions of
Recognized provident Fu

Contd...2
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geNg ,
ains.
PH 313.1 Jmpute taxable capital 9

tial house in May 2009:%2,00,0,

9. From the following in
i) a) Cost of acquisiti
b) Sale of conslderatio

ew housé purch
gt

ased for residential purposes by dyg ditg
he cost of site 7 50,000) ¥ 5,00,000

the schemeé by the due date of ﬁ”ng &

of
¢c) Cost of n

filing tax return {inctudln
d) Amount deposited as per

return ¥ 1,00,000. :
; eposits T 500,
ake any difference if the assessee dep 000 as

g the return for the AY 2018-19 it oe;
he new house before 15.8.2020,

i) Would it m -
the scheme by the due date of filin
not utilize the amount for acquiring t

(Cll 2009-10:148; 2017-18-272)

rward of losses.
10. Discuss the provision relating to set-off and carry i

11. Mr. Abdul owns four houses, the details of which are as under:

I 11 111 i
Annual Muncipal Value | 100,000 | 80,000 120,000 150,0@"“‘I
Fair Rental Value 120,000 | 150,000 100,000 120,000—“:
Rent Received 150,000 | 144,000 Self Self |
Standard Rent 136,000 | 180,000 | 150,000 | 100,000
Muncipal taxes paid 8000 6000 NIL 1200 ‘l
Repairs - 12000 40,000 60000 |

For the construction of IV house, he had borrowed ¥ 800,000 at 15% p.a on
1.1.2012, The house was completed on 1.8.2014. This loan is not cleared.
Compute his income from house properly.

12. Mr. Karan furnishes the following particulars of his income. Compute the
taxable income from other sources,

a) Dividend from Unit Trust of India Z 30,000.
b) Dividend from Infosys Itd 10,000
c) Dividend from a co-operative society ¥ 2,000,

d) Interest on FD in Corporation Bank % 5,000, ST.ALOYS|US COLLEC:
e) Directors fees 2 10,000 ‘ PG Library

+ )
f) Family pension 2 800 p.m MANGALORE-575 00

9) Royalties from mining(Expenses 2 2,000) ¥ 20,000

h) Income from letting plant and Machinery ¥ 20,000
1) Winning from lottery(Net) 2 35,000 |

1) Interest 4,000 on tax free debentures of ABC Ltd

mnw..ﬁ
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unting.

3,1
i medical
goisal al practitione
" D;nfpute his income from profesrélr:,o maintains cash syster of e
Receipt and Payments A/c for the year
= T T
fo balance b/d 24,000 By Rent Clinic
2016-17 14,000
l ﬁﬁb’ﬁﬂtation = 2017-18 140,000
2016-17 | 5,
2017-18 ,000 By Electricity & Water
s018-19 | 120000 Iop
30,000 y Purchase of
'fEV <iting fees 400,000 professional books
——Toan from Bank
To Loan from Ban 250,000 | By car purchased on
1.6.2017
To Gifts & Presents 50,000 By Repairs to car
7o Honorarium from 100,000 By Salary to staff
private hospital
e T ]
‘ To Dividend from 140,000 By LIC Premium
| foreign company
I“'To sale of Medicine 250,000 By Interest on bank
1 loan
[To Interest on POSB | 16,000 By purchase of
‘ a/c medicine
By purchase of
| surgical equipments
By personal expenses
By balance c/d
|
l__ - 17,30,000

14,

L
Additional Information:

a) Allowable depreciation on car is 1
fessional purposes.

personal and pro
ed an daughter’s

b) T 40,000 receiv

presents.

c) Bank loan is taken for daughter's wedding

d) ofs salary to staff¥ 10,000

e) Allowable depreciation

From the particulars g

working in a company
deduction allowable U

on surgica

5% and car is used equally for

marriage is included in gifts and

ST.ALOYSIUS COLLEGE

PG Librar:

MANGALORE->75 003

SECTION - C (Compulsory)

/S 80C

a) Basic Salary ¥ 25,000 p.m

b) D.A 20% of basic (enters i
¢) City compensato

ven below, compute taxabl
in Delhi (population exceed

nto retirement benefits)
ry allowance T 2000 p.m

d) Conveyance allowance 21,200 p.m
) Helper allowance 7 1,500 pm(

Actually spent T 1000 p.m)

| equipments 15% and books 60%.

(1x10=10)

e salary of Mr Das who is
ing 25 lakhs) and the

Contd..4
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PH 313.1
.m
f) Medical allowance ¥ 3000 P

i 5
g) The employer paid the wage
i b. Sweeper T 2000pm

a. Cook ¥ 5000 p.m ‘
a rent-free accommodation for the
Enta]

to the following servants proy; deq
0

h) The employee provided him

value ¥ 1,20,000. ,
i) He contributes 13% of his salary to RPF to which the company
contributes equally.
big car for official and persong| use, Ay

j) He has been provided with a _
expenses including drivers salary is borne by the company,

k) During the year he invested ¥ 5000 in PPF, X 12000 in NSC ang repai
housing loan of ¥ 30,000(including interest of ¥ 14,000) id

ok 3K oK K K ok 3K K K R K o o ok ok ok

ST.ALOYS!S COLLEGE
PG Librarv
MANGALORE-575 nm
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p St Aloysius I'!.El::rlllazge (Autonomous)
Semester I =Lkl
P.G, Examination - M.Com.
November - 2018
ECONOMIC EHVIRONMENT AND POLICY
3 Hours : Max. Marks: 70
e SECTION - A
Mswa" any FIVE of the following: (i)

ma
yhat are the major components of micro and macro environment of business?
grate the features of Mixed economy.,

write @ note on ‘Informal Financial System’. ST.ALOYSIUS COLLEGE
what are the characteristics of Special Economic Zones? M4 Nr'.,\ﬂt_'r';:rr:'-t':ﬂ N3

what are the reasons for the protection of IPR?

L

ek

pistinguish between Consumer Protection Council and Consumer Disputes
Redressal Agency.
critically evaluate the objectives of Competition Act 2002.

SECTION - B
Answer any EOUR of the following: (4x10=40)
“Capitalist economic system creates favourable environment for the growth of
business, but Socialism will not”, Comment.
o, Explain the role of Financial Markets in the economic development of a

country.
0. “Industrial Policy Resolution of 1991 is entirely different from all other earlier

Industrial Policy Resolutions”. Discuss.
{1. Explain the outcomes of Uruguay Round Conference with reference to

Intellectual Property Rights.

12. How Consumer Protection Act 1986 s protecting the interests of consumers in

India? Explain.
13, “EDI in retail sector is a threat to Indian economy”. Comment on this

statement.
SECTION-C (Compulsory) (1x10=10)

4. Many companies have planned for significant investment in organized retailing
in India. Several factors have prompted their decisions in this regard. The
income of the customer is rising. people have developed a taste for better
quality products even though they may have to pay more. The aspiration
levels have increased. The government has also liberalized its economic
policies in this regard and permitted even cent percent FDI in some sectors of

retailing.

Questions:
) Identify the economic, social, technological, political and legal changes in

business environment that have facilitated the companies’ decisions to
plan significant investment in organized retailing.
il) What has been the impact of these changes with regard to globalization

and privatization?
s ook o ok oK K K
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St Aloysi [

Ysius College (Autom:nm::us-.-)“h_‘]___—r.l
Semester 1- :'angaluru

::: Examination - M.Com
Ovember - 2018
MANAGEMENT & ORGA

oo NSISATIONAL BEHAVIOUR

e Max Marks: 70
SECTION - A
answer any FIVE questions,
0 Mention briefly the different levels of management? (Fce=30)
what are the points of distincti ‘
L workplace? iNction between formal and informal groups at

3, Discuss the term ‘organization culture’ in detaii> ~ S1.ALOYSIUS COLLEGE
; Lihrary
4, Enumerate the importance of creativity, ,\MNE;,_(;R'EI,S*;S 003

5, Work-life balance is the key to success in an organization. Explain.
g, What is meant by motivation cycle?
7. Review the challenges in managing diversity at workplace.
SECTION - B
Answer any FOUR questions. (4x10=40)
8.

Discuss the historical development of management thought that has
evolved over the years,

9. Describe the sources and causes of organizational conflict.

10. Elucidate the reasons for resistance to change and the essential skills to
overcome it?

11. Explain any four methods in detail that help in' developing creativity.
12. Discuss in detail the process theories of motivation.
13. Describe the different job design techniques.

SECTION - C

14. Analyse the case (Compulsory) (10)
In ten years, Plant World had grown from a one-person venture into the
largest nursery and landscaping business in its area. It's founder, Myta
Ong, combined a lifelong interest in plants with a botany degree to provide
a unique customer service. Ong had managed the company’s growth so
that even with twenty full-time employees working in six to eight crews,
the organization culture was still as open, friendly and personal as it had
been when her only employees were friends who would volunteer to help
her move a heavy tree.
To maintain that atmosphere, Ong involved herself increasingly with people
and less with plants as the company grew. With hundreds of customers
and scares of jobs at any one time, she could no longer say without
hesitation whether she had 3 dozen arborvitae bushes in stock or when
Mrs.Carnack's estate would need a new load of coffee seed.

cﬂ“td il
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Pa
g have led 0 - Noq
v n
Paying a lot of attention to employee needs t'::Ymmpanv Si to Make -
single bad decision that almost destroyed ; e Proyig,

nd when t
extensive landscaping to a new mall on credit, a 2l Mall Neve,

Opened and its owners bar‘]l{r[,_,”:)l:IF Plant World found itself i‘n dEE‘p trﬂublel
The company had virtually no cash and had to pay the bills foy the

plants, most of which were not even salvageable.

One Friday, Ong called a meeting with her employees and leveleq With
them. Either they would not get paid for a month or Plant Woriq Woug
shut.  The news hit the employees hard. Many counted on Saturday
Paycheck to buy groceries for the week. The local unemployment rate Was
low, however, and they knew they could find other jobs. Ong 9ave he,
employees the weekend to think over their decision. Whether to take their
Pay and look for another job or to dig into their savings and go on Working,

Maj|

But she arrived at office Monday morning, she found all her workers ready
to work even harder to pull the company through.
Questions:

a) Identify the key problems of this case?

b) How would you describe the organization culture at Plant World?

€) Discuss the measures to resolve the much required organizational
change at Plant World.

¥ koK ok ok ok ok

ST.ALOYSiUS COLLEGE
PG Libruy
MANGALCRE-;?S nna
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iy nomous)
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P.G. Examination - M.Com
November - 2018

TATIV
QUANT? ATIVE TECHNIQUES FOR DECISION MAKING

Semester I-

rs.
3h Max Marks: 70
SECTION - A
er any FIVE
ANSW Y questions, (5x4=20)

pefine feasible solution, basic soluti i
rransportation problem, tion and optimal solutio

what do you understand by a linear programming problem?

(i

2.
5, Whatis game theory? Discuss its importance to business decision making.
s Wwhat is financial management simulation?
5, what are the cost considerations in PERT/CPM and what is the cost slope?
;. Explain the meaning of degeneracy in a transportation problem. How do
you resolve it?
7. Destination
Dy D; D; Ds | Supply ST
04 6 4 1 5 14 ALHISG'US CoLL
0: 8 9 2 7| 16 MANGALGR R i
0; 4 3 6 2| 5 =500y
Demand R () 35
Solve with 2 help of least cost method.
SECTION - B
(4x10=40)

Answer any FOUR questions.
8. Discuss the Monte carlo method of solving @ problem, illustrating it by
outlining @ procedure to solve a specified problem of your choice,

s. D, D Di| @
S e e
10

0, 2 2 3
0, 4 1 2: |15

| R
65

by 20 15 30

Solve for minimizing transportation cost and also find optimal solution by

using north west corner rule. _
10. Find the optimal assignment for the job.
c

—ta—3 6 2 7|
2 | 10 12 11 14 16
2|4 L
sls 7 6 2 °

Contd...2
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PS 316.1

11. Solve the following

Ay
Player A Az
A;

problem using

player B

By B2 Bs
i 2
s
5 6

12. MaxZ= 5x;+3x;
Subto 2x+x;<1

rl + xz 2 0
Solve with a help of Simplex method.

= Jobs a b
1-2 3 7 | 18 |
1-6 2 14
2-3 2 | 14 | 26
2-4 2 | 5 8 MANG A h'u
35 7 | 10 | 19
4-5 5 5 | 17
6-7 5|8 | 29
58 | 3 | 3 | 9
7-8 8 | 17 | 32

principle of d°

CQLL@E

F. \-.

nn3

Find the probability that, the project will be completed within 40 days.

14. Compulsory

Determine total float, free-float and independent float.

SECTION -C

Activity

Time (Days)

1-2

4

1-3

2-4

34

3-5

4-9

5-6

OE7:

6-8

7-8

8-10

9-10

N N o= o B O e | e

ERERKER KRR

(10)
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3 hrs:
¢ SECTION - A Max Marks: 70

answer any EIVE of the following:

ﬂ.{l‘l

(5x4=20)
gxplain the different types of financial declsion

what is cost of capital? what

jecision-making? Is the importance of cost of capital In

3, State the assumptions of capital structyre theories

y, Consider the following information for Kaunark Ltd

Tin lakh
EBIT 1120 STALOYS g o1,
PGt VELE
PBT 320 MANG AL =1
URL-575 i3
FC 700 [

Calculate percentage change in EPS if sales increased by 5%.
5. What are the factors that influence the dividend policy of a company?
6. Write a note on planning for sustainable growth.

7. A share of Star Ltd is currently quoted at ¥55. The retained earning per
share being 40% is ¥4 per share. If the investors expect annual growth
rate of 10%, what would be the cost of equity of Star Ltd?

SECTION - B
Answer any FOUR of the following:
8. "The profit maximization is not an operationally feasible criterion”.

(4x10=40)

Discuss.
9. A company has on its books the following amounts and specific costs of
each type of capital.
| Type of capital Book value | Market value | Specific cost
(%) () (%)

Debt 4,00,000 3,80,000 5

Preference 1,00,000 1,10,000 8

Equity 6,00,000 15

Retained earning 2,00,000 12,00,000 13

13,00,000 16,90,000

Determine the welghted average cost of capital using
b) Market value weights

a) Book value weights and
How are they different?

Contd...2
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PH 312.1 spects Including rI::. ok
10, Summer Ltd & Winter Ltd are Identical In all resp facty,

% d :
except for debt/equity mix. Summer Ltd. having issued ll;huthehentums of i
230 lakhs while Winter Ltd. issued only equity capital. Both the compay,

50 lakhs,
earn 24% before Interest & taxes on their total assets of ¥ khs

Assuming the corporate effective tax rate of 40% and capitalization rate of
18% for an all-equity company, Compute the value of SUmmer Ltd & winy,, ﬁ
Itd using:

a) NI Approach and,
IE

VirslN b

b) NOI Approach
11. a) Briefly explain Walter's theory of dividend policy.

b) The earning per share of a company are ¥10. It has an internal rate of
return of 15% and the capitalization rate of its risk class is 12.5%, s

Walter’s Model is used:

1) What should be the optimum payout ratio of the firm?

i) What would be the price of the share at this payout?

iif) How shall the price of the share be affected if a different payout were
employed?

12. What is financial planning? Discuss the steps involved in financial planning.

13. The balance sheet of Alpha Numeric company is given below:

Liability ¢ Asset T
Equity capital 90,000 | Net fixed assets 2,25,000
(Z10 per share) '
10% long term debt 1,20,000 | Current assets 75,000
Retained earning 30,000
Current liability 60,000

3,00,000 3,00,000

The company’s total asset turnover ratio is 3, its fixed operating cost is
¥1,50,000 & its variable operating cost ratio is 50%. The income tax rate is
50%.

You are required to:

a) Calculate the different types of leverage for the company.

b) Determine the likely level of EBIT if gpg Is:
c) T )2  and i) 20

contd...3
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S
i - ECTION - C (Compulsory) (1x10=10)
" yyZ Ltd IS CONSIACHNG three financial plans for which the key information Is
a5 below:

2) Total investment to be raised ¥4,00,000
b) plan of Financing proportion:

"Plans Equity | Debt Preference
- share
A 100% - --
B 50% 50% -=
'Cl 50% -- 50%

¢) Cost of debt 8%, cost of preference shares 8%

d) Tax rate 50%

e) Equity shares of the face value of 10 each will be issued at a premium
of 10 per share.

f) Expected EBIT is ¥1,60,000 15
Determine for each plan: ST.A "g}.;‘c“:"&':-(ff'—'.'thtut

i) EPS MANGALORE-575 po3

i) Financial break-even point

iiy Compute the EBIT range amon
******#***********

g the plans for point of indifference.
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P.G. Examinatlon =~ M.Com

November — 2017

.3 Hours
Max. Marks: 70

SECTION - A
qswer any EIVE of the following;

A
explain the term “Assessee”, . V.. (5x4=20)
piscuss the fully tax free allowances Man, \ T 5
. L3 -’_f} _"F.. -
. Explain ‘Speculation Profits’, KE.575 e

o mmpar:w took a house on rent and allotted to its employee. From the
pllowing information find out the value of perquisite of accommodation.

L4
Rent paid for the year 1.20.000
Galary _ 10,00,000
Cost of the furniture provided to the employee 60,000
Rent charged from the employee per month 4,000

Mr. Karan went to America on 1% April 2016 for a film shooting. Due to ill
health, he had to stay there just after shooting. He came back to India on 259
September 2016. He had to go again on 8" December 2016 and returned
India on 15 February 2017. Find out Residential status of Mr. Karan for the

Assessment year 2017-18.
What do you understand by the term ‘Capital Asset’ u/s 2(14) of Income Tax

Act of 1961.

Discuss the rules governing set-
SECTION -

Answer any FOUR of the following:
5. From the following particulars compute the gross to

the AY 2017-18 if he is rily Resident  ¢) Non-Resident
) Ordinarily Resident b) Not Ordinarlly Res i i
) Incor‘:;e from agriculture in Lahore, received there and brought to India

T 1,20,000.
il) Income from property in UK. ¥ 2,50,000
iii) Income earned from business In Australia,
Delhi (Z 50,000 received In India) ¥ 3,00,000.

iv) Income earned from business in Mumbai,

Japan ¥ 1,76,000.
V) Interest on debenturé of Indian Company re
Vi) Dividend on shares of foreign company T 48,
Vil)Gift in foreign currency from a relative receive
Vili) Past untaxed Indian income 1,10,000 ™
) Payment from Public provident Fund ¥ 62,(11: %
X) Interest accrued but not received on F.D.
¥ 25,000.

off and carry forward of capital losses.

(4x10=40)
tal income of Mr. Ratan for

which is controlled from
which [s controlled from
ceived In Canada T 85,000.

000
din India ¥ 92,000

in Canara Bank, Delhi

Contd...2
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me
ccount the following points. for the AY 2017-18, after taking In

o /3 of the use of car relate to Personal
) pepreciation on Motor car allowab -

le.
on surgical equipments jt Is 1594 €.15.15%, on books it is 100% and

sing stock of m
o) Closing edicines amounted to 7 5,500
‘ L

ohar purchased
. Man 8 residential property in June 1985 2

anuery 1988 he remodeled the house Spending 2 20,000. In Jan
na e

he Conclu:E?.;]ong;EEment to sell the Property to Aravind who could not pay

the conside mount. Therefore, Manohar forfeited the advance of

¢ 10,000 received from Aravind,

n 1990-91, Manohar spent ¥ 55,500 in renovation of the house. On

30.6.2016, the house was sold for Z 45,00,000. The brokerage paid was at
2% of sale proceeds.

60,000, In
uary 1989,

compute taxable capital gain for the AY 2017-18, assuming Mr. Manohar
purchased a new house property ¥ 20,00,000 on 15" April 2017.
The CII 1985-86:133; 1987-88:150; 1990-91:182, 2016-17:1125.
SECTION - C (Compulsory) (1x10=10)

y, From the following particulars, compute taxable income from salary of Mr.
nuraj for the AY. 2017-18. Also compute, deductions allowable u/s 80C.
Basic Salary ¥ 5,40,000
Dearness Allowance ¥ 50% of Basic Salary (60% enters in to retirement
benefits. ST.ALOYSIIS COLLEG!
Bonus ¥ 25,000, Entertainment allowance - ¥ 500 pm o Wci:fu‘{;LLwi- s
Medical Allowance T 1000 pm
Children’s Education Allowance T 500 p.m. (child for 2 children)
Conveyance allowance ¥ 2000 pm

Travelling Allowance ¥ 5000 (80% is spent for travelling)
The employer provided Mr. Naveen a rent free accommodation owned by the

company (city population 20 lakhs)
Club bills paid by the employer Z 5,000 p.a. He is also provided with a small
car which he uses for both official and personal purposes. The running and

maintenance of the car met by Mr. Naveen.

He contributes 15% of his salary to RPF where €
mulated balance of provident fund at

5000. Deposited ¥ 50,000 in PPF.
7 10,000 forwards principal

qual contribution is made by

the company. Interest credited to accu
10.5% % 10,500. He paid LIC premium ¥
Paid ¥ 24,000 EMI of housing loan which include

aMount
e T L
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Semester I -
NOVember - 4L

; SECTION " Max. Marks: 70
pnswer any FIVE of the following;

betwee 5x4=20
pistinguish N micro and macro environment of b : !
usiness.

. ention the four components of a financial system,

what is the rationale of second generation reforms?

en

, \rite short Notes on a) copyrights b) trademarks
¢ Mention the objectives of industrial policy 1991

. What are the objectives of Special Economic Zones (SEZs)?
; Write a note on consumer protection councils. ALl 5" COLLEGE
o I

P [

SECTION - B MANGALOK
Answer any EQUR of the following: CGcid=403
: Briefly explain about business environment. Discuss how internal and external

praty

E- 5715 003

factors influence the business environment.
i What is a financial system? How does a financial system contribute to
economic development? Describe the various aspects involved.

. What are the salient features of Industrial Policy 19917

L. Discuss the types of intellectual property rights.

1 Discuss the salient features of Consumer Protection Act 1986. Describe the

ghts of consumers.

recent changes to protecting the ri
what are the advantages and

% Briefly explain FDI in Retail Sector in India.
disadvantages of allowlng FDI in Retail Sector?
SECTION - C (CQmpulsory)
ent, the Government of India
Limited (MFIL) to Hindustan
ajor step in the GOI's
ion to

(1x10=10)

In FEbrqary 2000, as part of the disinvestm
(601) sold Modern Food Industries (India)
United (HLL) for ¥ 1.05 billion. This was halled 25 2

dsinvestment plan. However, some analysts questioned the GOI's decis

its spread across the country and

most ters of land for just¥ 1.05 billion.
0.5 million square mete s
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d HLL for trying to shut down Some
han half of the 2,000 workforce a1
eeds. By December 2000, i5

In 2000-01, employees at MFIL accusé
manufacturing units by retrenching more t

duction n
relying on third partles to meet pro
months after HLL took over MFIL, Its accumulated losses went up to ¥ 47q 4,

million as agalnst its net worth of T 330.1 billion. Subsequently, under the
Sick Industries Act (SICA), MFIL was referred to the Board of Industria] and

Financial Reconstruction (BIFR). '
In 2001, HLL announced that MFIL would be able to make a cash profit in twg

years. It announced a turnaround strategy which involved |impr0ving|the
quality of the product and the raw-materials (refined flour), | improving| the
manufacturing process controls, and modernizing the Plant and MaChianry.
Existing distributors would be trained and new ones identified. HLL was alsg
looking for new outlet that could sell bread. To implement this strategy, HLL

invested ¥ 80-90 million in MFIL.

Questions:
i) Examine the factors behind government’s disinvestment decision,

ii) Do you think that the strategy of HLL will be successful? Give reasons.
4 3¢ 30 K K K K K

ST.AL
MANL“-.L\;‘&‘ .
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pr 315.1 Reg. No: |
St Aloysius College (Autonomous)
Mangaluru
Semester | - P.G. Examination - M.Com.

November - 2017
MANAGEMENT AND ORGANISATIONAL BEHAVIOUR

fime: 3 “"“T Max. Marks: 70

‘ SECTION - A
shswer any FIVE of the following: (5x4=20)

1. Trace the evolution of management with reference to the contributions made
by management thinkers,

2. Explain Hawthorne experiments conducted by Elton Mayo.

3. Discuss the different roles played by a manager in a multinational
corporations.

4. Explain the various types of groups and how they are formed in the
organizations.

5. Explain the concept of workplace diversity with examples.

6. Explain the importance of creativity in the organizational context.

7. Explain Maslow's Hierarchy of need theory of Motivation. *1-ALOYSIUS COLLEGH
P Library

| SECTION - B MANGALORE-375 00
Answer any FOUR of the following: (4x10=40)

8. Discuss the issue and challenges faced by organization in the present scenario.
9. Discuss the theories of personality in detail.

10. What is perception? What are the factors that affect perception? Discuss in

detail.

11. Explain various techniques of motivating employees in present business

environment.
12, Define power and politics. Explain various power bases.
|

13, What is interpersonal conflict explain with the help of transactional analysis
‘ andjohari window.

SECTION - C (Compulsory)
(1x10=10)

4. Arun doing MBA in a management institute in Andrapradesh has taken up a
summer job with a factory at Hyderbad. He has been assigned to a small
group of men who are responsible for loading and unloading the boxcars that

Supply materials and carry away the finished goods of the factory.

Contd...2

Scanned by CamScanner



;E

‘ Pa
PS 315.1 ge No.2

After few days spent on the job, Arun was amazed at how little work the mq,

in his group accomplished. The seemed that they were forever standiy,

around and talking or in some cases, vern going off to hide when there y;g

work to be done. Arun often found himself unloading the box car while other

members were off messing around some where else. When he complained tq

his co-workers, they made it very plain that if he did not like it, he could quit
but if he complained to the supervisor he would be sorry.

Arun has been deliberately excluded from any of the crew’s activities such as
taking breaks together or having snacks at the popular restaurants across the
streets. One day he went up to one of the older members of the crew and saird,
“I don’t know why you behave like this. I am just trying to do my jjob because |
am here only for my summer assignment. [ get a good salary whiFh is all that |
care about. I would have liked to know you all better, but frankly [ am sure

that [ am not like you all”. The elder man replied, “Arun, if you has been here

as long as | have, you would have been just like us”.

Questions
Explain the group process involved in this case.

Describe the type of motivation of Arun and other members,

Do you think Arun would change his attitude if he were to stay longer in the
job? Explain the reason for your answer.

* K ok ok

51 ALOYSIUS COLLY L
P\‘:i [.il:x;si"‘ e
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316-1 Reg. No:
St Aloysius College (Autonomous)
Mangaluru
Semester| - p,G. Examination - M.Com.
November- 2017
QUANTITATIVE TECHNIQUES FOR DECISION MAKING

me: 3 Hours Max. Marks: 70
SECTION - A

swer anY FIVE of the following; (5x4=20)
construct @ mathematical model for tra nsportation.

priefly explain steps involved in the Vogel's Approximation Method.

p

1.

1.
3, Explain Hungarian Method procedure.
4, State the role of LPP in management decision making.
5, Write a note on Monte Carlo Simulation method?
5. Obtain Initial Basic Feasible Solution with a help of Least Cost Method.
D; |Dz2 | D3 |Ds |ai
ool I T T 2
[0z | 2| 375z Fonins
o A T ST.4 Loy
oy (46862 MANGALGK,
7. Solve the payoff matrix of player A
B1 B2 B3
Ay 2 6 8
Az 7 6 8
Az 8 3 2
SECTION - B
Answer any FOUR of the following: (4x10=40)

8. Solve with a help of (NWCR) North West Corner Rule and Test for Optimality.
D; D; Ds Ds Supply

00 6 4 1 5 14

0z 8RO 2T 16

0, 4 3 6 2 5
Demand 6 10 15 4 35

9. Forthe following problem, find a solution by using principle of Dominance

Ny | No | Na | Ny
M [-2 |0 [0 |5
Ml3]2[1]3
My| -4]-3]0]-2
Myl 5[ 3|45

Contd...2
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